R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1694\D. RWBC Drawings\Texas 2012\TX-4260-61.dwg, TX-4260

THERMARTRU

THERMA TRU DOORS

118 INDUSTRIAL DR., EDGERTON, OH 43517

"Smooth Star”, "Fiber Classic"

& "Classic Craft"”
Opaque Fiberglass Single Door

37.75" MAX.
OVERALL
FRAME WIDTH

w/ or w/o Sidelites
INSWING / OUTSWING

RS

T
" 11

Non-Impact 2
)
EVALUATED FOR USE IN THE STATE OF TEXAS ®Q
The Therma-Tru FIBERGLASS door described herein complies with the 2006 International Residential < =
Code (IRC), Sections R301 & R613 and the 2006 International Building Code (IBC), Sections 02
1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the following conditions: =z

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base i

material shall be beyond wall dressing or stucco. o

O~

2. When used in areas requiring wind-borne debris protection, this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the
IRC and Section 1609.1.2 of the IBC.

S —

—_—

- OUTSWING -

) — |
|

97.19" MAX. O.A. FRAME HEIGHT

T —

| 37.75'MAX. _,
FRAME WIDTH

1.5" —| }e—

15.5" MAX.
FRAME WIDTH

. 54.75"MAX. OVERALL _
FRAME WIDTH

3. Allowable design pressure requirements must be equal to or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing.
4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details (Smooth Star/Fiber Classic)

Door panel details (Classic Craft)

Sidelite panel & glazing detail (Smooth Star/Fiber Classic)
Sidelite panel & glazing detail (Classic Craft)
Elevations

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Frame anchoring

Bill of materials and components

V|0 |IN[NO[BD|WIN|—

1)

—
—

AN
F T

A
NS
¢ O

-~y

71.75" MAX. OVERALL
FRAME WIDTH

. 3775'MAX. _
FRAME WIDTH

1.5" 1.5

15.5" MAX.

FRAME WIDTH

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123
P.O. Box 230 Valirico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA—-TRU
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NOJ| DATE

REVISIONS

oATE: 10/08/12

scale:  N.T.S.

DWG. BY: JK

37.75" x 98.12" INSWING +80.0 -85.0 +80.0 -85.0
X
37.75" x 97.19" OUTSWING +80.0 -80.0 +80.0 -80.0
54.75" x 98.12" INSWING +55.0 -65.0 +55.0 -65.0
OX or XO
54.75" x 97.19" OUTSWING +55.0 -55.0 +55.0 -55.0
71.75" x 98.12" INSWING +55.0 -65.0 +55.0 -65.0
OXO
71.75" x 97.19" OUTSWING +55.0 -55.0 +55.0 -55.0

CHK. BY: LFS

DRAWING NO.:
TX-4260

SHEET 1 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1694\D. RWBC Drawings\Texas 2012\TX-4260-61.dwg, 2

1.18"

S\

HINGE STILE
(WOOD)

36" MAX. PANEL
WIDTH

95.25" MAX. PANEL HEIGHT

|
d

]2“

DOOR PANEL
Smooth Star/Fiber Classic

EXTERIOR

4,02

INTERIOR

/1" \ HORIZONTAL CROSS SECTION

\2/

DEADBOLT: SEE TABLE

KNOB: SEE TABLE

KNOB:

SIGNATURE SERIES

KWIKSET | DEaDBOLT:  SIGNATURE SERiEs (980) | &0 PSF
KNOB: "F" SERIES
SCHLAGE | heaDBOLT: "B SERIES 85 PSF

LATCHSTILE &
(ENG.WOOD)  —

0.9" ————'

TOP RAIL
(COMP.)

FOAM CORE —
(POLYURETHANE -
1.9 PCF MIN.)

EXTERIOR INTERIOR

FIBERGLASS SKIN /

(0.07" MIN. THK.)

BOTTOM RAIL
(COMP,)

—={ 0.85" |~—

@ VERTICAL CROSS SECTION
2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

DOOR PANEL DETAILS

BY

REVISIONS

oate: 10/08/'1

L
'_.
<
o
o
z
2

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4260

SHEET _2 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1694\D. RWBC Drawings\Texas 2012\TX-4260-61.dwg, 3

~ 1.44" =

EXTERIOR

| 1,7" —]

\ JII

HINGE STILE (ENG. WOOD)

36" MAX. PANEL

WIDTH

INTERIOR

m HORIZONTAL CROSS SECTION

3/

95.25" MAX. PANEL HEIGHT

=1

dl

48"

-I 2“

DOOR PANEL
Classic Craft

DEADBOLT: SEE TABLE

KNOB: SEE TABLE

SO 7 J—
] =03
_[ ] &= .:
N B
N UL,
1lRLRY YL
LOCK STILE CAP (WOOD)
(ENG. WOOD)
~ TOP RAIL
(COMP,)
FOAM CORE —
(POLYURETHANE -
1.9 PCF MIN.)
FIBERGLASS SKIN /
(0.125" MIN. THK.)
BOTIOM RAIL e
(COMP.)
L— 17" ——

KNOB: SIGNATURE SERIES
KWIKSET DEADBOLT: SIGNATURE SERIES (980)
KNOB: "F" SERIES
SCHLAGE DEADBOLT: "B" SERIES 85 PSF

@ VERTICAL CROSS SECTION
3

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

THERMA-TRU
FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

=
<
S
o
P
2

oaTe: 10/08/1

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4260

SHEET _3 ofF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1694\D. RWBC Drawings\Texas 2012\TX-4260-61.dwg, 4

14" MAX.

PANEL WIDTH

7" MAX.
D.LO.

1.7

|

STILE (WOOD)

95.25" MAX. PANEL HEIGHT

79.12" MAX. D.L.O.

15.25'0.C. * ,I ’
MAX, (TYP] 3.25" TYP.)

\ #8X1-1/2"

(2
N

PPH SCREW
(TYP.)

SIDELITE PANEL
Smooth Star/Fiber Classic

INTERIOR

/L
L4
A\

A\

EXTERIOR

STILE (WOOD)

@ HORIZONTAL CROSS SECTION
4

—= 1/2" GLASS BITE
#8 X 1-1/2" PPH SCREW
INTERIOR LITE FRAME — 1" GLASS THK.
'/ 1/8" TEMPERED
/— AIRSPACE

\ 1/8" TEMPERED

EXTERIOR LITE FRAME

BACKBEDDING SEALANT ALUMINUM SPACER

(Bostik Findley, Inc.)

G1 GLAZING DETAIL
BTS Lip Lite Frame

1.57"

EXTERIOR LITE FRAME INTERIOR LITE FRAME
BTS BTS

-~ 17" ——

—={ 0.6" |=—

TOPRAL — |
(ENG. WOOD) g

FIBERGLASS SKIN/ L

(0.07" MIN. THK.)

/.

@\“”

EXTERIOR INTERIOR

A\
A\)

FOAMCORE — ||,

(POLYURETHANE -
1.9 PCFMIN.)

BOTIOMRAIL—
(ENG. WOOD)

o

/" 2"\ VERTICAL CROSS SECTION
4

Wy,
LN
£ 0
°
s> B 2
0w Om o
2 2 N &
w
9 pe2
0 o"fg
o oo §
c T X
> 459 @
2> 0
- i
ZO0om o
on® O
Iy onN= o
O xz
v 0 T8
o Za,e O
o c
§ 508 8
< Do <
& S 8
B
c
0 g
N
3 =
0
a

CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

(SMOOTH STAR/FIBER CLASSIC)

By | SIDELITE PANEL & GLAZING DETAIL

REVISIONS

e
<
a
o
z
2

DATE: 10/08/1

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4260

SHEET _4 ofF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



TON| SAINVLINSNGOD aNIging "Mm"d 2102 @

ZS8L1I—4 # NOLLVMISIOZN 40 ILVOLJILN3D (L4VD DISSV1D) SNOISINTY ]
SHIANIONI TYNOISS3J0¥d 40 Quvog SvXaL OIvi3a ONIZYI9 ® TINVG ILT3AIS Ad 31vd [ON m il % o H_
LB16°6S9°CLB :'ON ®uoyd : N3y 9.
SBSCE “14 OOLIDA OSZ Xo8 ‘O'd \S«@. "AJBW3SSY ¥0 Livd @ M p Y|s
*ONI ‘SINVLINSNOD ONIGIING W NER 5_
4004 SSv19¥34ld = |5]|Elg &
€ZLyOL# ‘I'd svxal NYL—-YWH3HL wldlelx|2 G
3'd ‘IPlwyss ‘4 uopuil :Ag peupdeud sjuewnsoq :109NA0Y¥d 209 W z W 5
'Y
L/
................... .
I
X
o
o
[
L
—
P W50 —=— |—-—

|V_ ~—.99°0

/" 2"\ VERTICAL CROSS SECTION

/.|L
<
oz
o
O
o

o
=
o}
Q

FIRERGLASS SKIN
(0.095" MIN. THK.)
EXTERIOR
FOAM CORE —
(POLYURETHANE -
1.9 PCF MIN.)
(COMP.)

1/8" TEMPERED
1/8" TEMPERED

3/4" GLASS THK.
ALUM. SPACER

GLAZING DETAIL
Fush Glazed

0.5" GLASS BITE A]

INTERIOR
EXTERIOR

(Bostik Findley, Inc.)

HORIZONTAL CROSS SECTION

BACKBEDDING SEALANT

N
&/

- L1 —

STILE (ENG. WOOD)

@
SIDELITE PANEL
Classic Craft

‘OTA'XVW.ZL'6L

7" MAX.
D.LO

1HOI3H 1INV XYW .5T'G6

14" MAX
PANEL WIDTH

§ 'BMPT9-09Z1-XL\CTOZ Sexal\sbumeq DaMy "a\r69T 4d\00LT - TO9T [01d\siap|o4 128[01d\s123(01d - W\:y



“ON| SANVLINSNOIOD aNIaing "Mm'dy Z2Log @

zSBLI—4 # NOLWVMISIOZN 40 3LVOI4LLNIO 5 SNOISIAIY SO
SYIINIONI TVNOISS3J0Nd 40 Q¥vos Swxal SNOLLYAFTS I m slslol o=
L6L6°6S9°CL8 TON ououd : NSy © .
S6SEE ~14 OSWIDA 0EZ %08 ‘O°d \Sv@. ‘ATBNISSY HO Ldvd 3 M s9°
“ONI “SINVLINSNOD ONIGTING NEE g | 6_

4004 SSV19¥38l4 S lglgle x

SZLYOL# "I'd SwXIL NAL—YWYIHL al9le||E m
‘3'd ‘IPIWYSS 'd Uopuk]  :Ag peipdesd sjuewnoog 110NA0¥d HEIHEE 5

4
|
X
>
2
\8/
ELEVATION (OXO)

3
\8/
ELEVATION (OX / XO)

7

1)
\8/
q
X
b
(3
\8/
ELEVATION (X

9 '6MP'19-09ZF-XL\ZTOZ Sexa\sbuimeid DaMY "A\P69T 4d\00LT - T09T [01d\s1ap|o4 133(01d\s13(01d - V\Y



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1694\D. RWBC Drawings\Texas 2012\TX-4260-61.dwg, 7

\\

N

@@

q

7

72

SEENOTE 1

O® < @

7“1\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

/ 0.18"
—-—1 f=— CSINK

C—

N

(TYP.)

AN

~

=

EXTERIOR

BE

72

7

DRYWALL /

®

R

7”4\ HORIZONTAL CROSS SECTION

\U Inswing shown - Outswing also approved

P

2

W

EXTERIOR

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

E—XT_E—RI_O_B o /1/1/111111111//7" @2 _‘, ?A“e s f
Note: § .
1 1. Sidelite assembly screws located g :
11-1/2" from each end plus 1 more 2 §
at the center of jamb (3 total). E g
Y 3
- /7
! ) "
3
INTERIOR o« 5
INTERIOR S| &
INIERIOR @ (505 2R | .
@m SEE NOTE 1 10 |. 8
/“2°\ HORIZONTAL CROSS SECTION e @ 2
\U Inswing shown - Outswing also approved . 2 |4 3
5 zf N
=] O] x
>
m
@ / EXT. SHEATHING p /— EXT. SHEATHING
YA
e | e "
4
o
7 EXTERIOR >
eueos :
A
Z e
\ INTERIOR N \ | 9
@ DRYWALL @@ DRYWALL oaTe: 10,/08,/12
SEE NOTE 1 SCAE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
/5 "\ HORIZONTAL CROSS SECTION /3" HORIZONTAL CROSS SECTION SRAVING o
w Inswing shown - Outswing also approved w Inswing shown - Outswing also approved TX—4260

‘— @ @

SHEET _7 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



TON| SINVLINSNGOIJ aNIiaing "m'a 2 _.DN©

2S8LL—d # NOLVNISIOZY 4O ILVOLILLYID =HOISIAH ivad [0
SYIIANIONI TVNOISSIJONd 40 auvos Svxil SNOILO3S SSOY) TYILLYIA Ag E| N m ulxlo 3 H_
L616°6S9°CL8 : HE
sesee rﬂ omm_uo\m F.“mxnuevﬂ.mo c.wﬁ_ \S,@. ATBNISSY ¥O Ldvd S M - g 3 s
“ONI ‘SINVLINSNOD ONIGTINE N RER 8_
4004 SSV1943414 - BlEle X
£ZLyOL# "3'd SVXIL NYL—YANYIHL i M s|x[3 m
"3'd ‘IPIWYSS ' UOPUAT  :Ag peupdeld suewinoog :10$NQ0¥d HEIEIELE z
wi
]
a) o
o 2
Q@ ©
2 0
m - | B

=
Qz
® 9
& (§]
[TT]
= (> vl 5
—— s —
Q| o
Ol3
&|(0
V5
| K3}
<o
-~ L|.c
&S
S8
: >
< oz
= o
4 ('dAl) i @
w
o INIS.D m
o & S10 m
\ /

EXTERIOR

/ 1"\ VERTICAL CROSS SECTION
W Inswing shown - Outswing also approved

|
(@140 ”
INTERIOR |

13

EXTERIOR

7“2\ VERTICAL CROSS SECTION

w Inswing configuration

\\

CONCRETE

INTERIOR

Q0

8 ‘DMP*19-09ZH-X1\2T0Z Sexa1\sbuimelq DMy ‘a\r69T 4d\00LT - T09T [01d\s1apjo4 Paloid\s1afold - W\



TON| SANVLINSNGOID aNIaling "m"'y 2102 @

ZSBLi—d # NOLLVAISIOSN 40 3LVOL4LLNIO SNOISIATY i
SYIINIONI TVNOISSIJ0dd 4O QuvOoE SVX3IL SNOILOIS SSO¥D TYILLYIA A8 Jiva [ON m slxle| o H_
9655 i OMIDA OFZ 08 -0d \S@. KIGNISSY HO_1Hvd 8577 § 8
“ONI ‘SINVLINSNOD ONIGTING NEREER 9_
¥00a SSvY19¥34ld = |ElEle &=
SZLYOLF “3'd Swxal NYL-YAYIHL ilYs|x|E &
‘3°'d ‘IPIWYDS °4 uopuki :Ag peJodeld sjuewnsoq :129Naodd e W 5 m &
w
o
[a)]
o g
Q O
® Ve
S
o <
L o]
= =
< 3]
g
O
Y 3|5
TR o ..m
Ul c
Z 38
3] m
[
O ac| o
L
£ S8
T
<
= (‘AL mw
= —1 ™~ 3NISO 0
(=) i 510 9
&
\ / g E
V9 ——F w m
,\\N\nn\v.\, = o m
5 =8
> ol8
L ~|T
2|2
| il
[ D 313
Gle
=3
|5
Vo
) Bl
N >|=
O &)
- O~
3 oz
3 ® & &
> oz A
2 (& & o 2
Z O O
2 0
o
Q S
i 5
s 5
© 25
SE
ALY = 2
ALV C rmU
-l
< [e]
Yl o
~N = c
N oc
B
= D
(2%
2 (®)
o
=
Z

6 "DMP'T9-09ZH-X1\ZT0Z Sexa[\sbuiMeld DMY "a\k69T 4d\00LT - T09T [01d\sIap|od 103l01d\s8l01d - Y\



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1694\D. RWBC Drawings\Texas 2012\TX-4260-61.dwg, 10

2X FRAMING TO BE DESIGNED BY THE
ENGINEER OR ARCHITECT OF RECORD
BASED ON WIND LOADS AND THE

CLADDING BEING USED (TYP.).
) 6" (TYP.) —
| = (1vp) | 3" (TYP) — (TYp) | 3 (TY)P.)
SEE HINGE 6" (TYP.
—  __ DETAL(TYP) i = | _T |
i) T Y
w _ O
Oz b TYP. HEAD 2X TYP. HEAD | TYP. HEAD
= L N | .
1 & JAMBS FRAMING™ || & JAMBS 2, JAMBS
®0 4 - DOOR|| i~ | -
|| X TYP. X TYP.
& FRAMING MULLION - FRAMING ) MULLION
( /]
DOOR_1 — DOOR
+ H. FRAME g E FRAME
]dJ
i s}
Q .
—3
HINGE JAMB
FRAME ANCHORING FRAME ANCHORING FRAME ANCHORING
FLOOR SUBSTRATE MATERIAL (TYP.) X XO / OX O%)
CONCRETE (MIN. 3000 PSI)
WOOD (8.G.>=0.42) *This anchor required for D.P > 60 psf.
/

&’l' -

24 ?Q

HINGE DETAIL
Inswing

(29)
(20

HINGE DETAIL
Outswing

w

LATCH & DEADBOLT STRIKE DETAIL
Kwikset Hardware - Standard Strike

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

48.875"

STRIKE JAMB

TOP PLATE

BACK PLATE

LATCH & DEADBOLT STRIKE DETAIL
Schlage Hardware - Standard Strike

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F-—11852

Documents Prepared By

1<)
S =
20 %
o
<§ 5 2
= o <
Q:O =
Lj ol w
ITXx |pl =
~LlJ
D (92
5= |
3 o
S g
o o
>
o
n
z
o
n
o
o
K
S
[<]
z
DATE: 10/08/12
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4260

sHEeT 10 oF 11

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1694\D. RWBC Drawings\Texas 2012\TX-4260-61.dwg, 11

BILL OF MATERIALS
TEM# | DESCRIPTION MATERIAL

B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

J #10 X 2-1/2" PFH WOOD SCREW (MIN. EMB. = 1.15" HEAD/JAMBS, 1-1/2"SILL) STEEL
M #10 X 2' PFH WOOD SCREW STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
] JAMB - FINGER JOINTED PINE WOOD
7 WEATHERSTRIP (Long Reach by Therma-Tru) FOAM
8 SWEEP VINYL
9 WEATHERSTRIP (Medium Reach by Therma-Tru) FOAM
13 INSWING THRESHOLD ALUM/COMP
14 OUTSWING THRESHOLD ALUM/COMP
21 #8 X 5/8" PFH WOOD SCREW STEEL
22 10-32 X 3/8" PFH MACHINE SCREW STEEL
24 #10 x 1" PFH WOOD SCREW STEEL
26 #8 x 2" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
40 DOOR PANEL (SMOQTH STAR/FIBER CLASSIC) -

41 DOOR PANEL (CLASSIC CRAFT) -
50 SIDELITE PANEL (SMOOTH STAR/FIBER CLASSIC) -
51 SIDELITE PANEL (CLASSIC CRAFT) -
65 INSWING SIDELITE ADAPTER PVC
66 OUTSWING SIDELITE ADAPTER PVC
68 2X MULLION (G >=0.55) WOQOD
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W . .
TAPCON® 1/4" 1-3/4" 2-1/2 3

ELCO " " " 11
ULTRACON®| 1/4 1-3/4 1 3

4.56"

N

A

0.75"

=00

1.25"

L—— 2.36" ‘»l %

( : ) WOOD JAMB

( : ) WEATHERSTRIP
Long Reach

5.83"

@ OUTSWING THRESHOLD

. ":'?‘}3?; .
;;:»;f” xigt ¢
e A = o< 0
Ga% iE £5 8 ud
;jl{!':' EG H %* % %2
;;‘i\:'ﬁig?:m : ou 8 87
w81 § emnl - . 4 4
A Pt - g
(:j; / 3 52 20"’ gz
B, s (]
G 121 gk xgg of
LN R AP 3>n @
=y o 2on &
SN0 5 8 2 - EE
o 0 x2 K
z 9 h'h_
& 3508 Pu
= oo g&
2 LE -
5 gk
H] g po
[+
[a]
N S
o —
S 1)
W o5 =
! S | &5
Loy |.. '—%
- §g .
o 3] =
b2 |3 &8
( : ) WEATHERSTRIP ""E'ﬁ' n
Medium Reach I e 2 Z"’B
5 xl O
8 o
o E
& 5
>
%)
i 2.19" {
o
Al E ? 0
| 8 5
& (@] z
|
@ INSWING SIDELITE ADAPTER o
H (NN ]
,—2.127"—] 3 e
% o o
o
© o
=z
I_H paTE: 10/08/12
T SCAE:  N.T.S.
DWG. BY: JK
46 OUTSWING SIDELITE ADAPTER CHK. BY: LFS
DRAWING NO.:
TX—4260
SHEET 11 oF 11

. © 2012 R.W. BUILDING CONSULTANTS INC.



